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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 8 × 2 = 16
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&
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1)	 (i)	 Any two problems of Urban life.

		  ZJar¶ OrdZ H$s H$moB© Xmo g‘ñ¶mE± ~VmBE&

	 (ii)	 What is social stretification.

		  gm‘m{OH$ ñVarH$aU ³¶m h¡?

	 (iii)	 Write two characteristics of Modernization?

		  AmYw{ZH$sH$aU H$s Xmo {deofmVE± {b{IE&

	 (iv)	 Define Kinship.

		  ZmVoXmar H$mo n[a^m{fV H$s{OE&

	 (v)	 According to census 2011. What is sex-ratio in India?

		  2011 H$s OZJUZm Ho$ AZwgma ^maV ‘| (ñÌr-nwéf AZwnmV) 
qbJmZwnmV {H$VZm h¡?

	 (vi)	 What do you mean by caste diversities.

		  OmVr¶ {d{dYVm go AmnH$m ³¶m Ame¶ h¡?

	 (vii)	Give two main features of Indian society and culture.

		  ^maVr¶ g‘mO Ed§ g§ñH¥${V H$s Xmo {deofVmE± ~VmBE&

	 (viii)	What is urbanization?

		  "ZJarH$aU' {H$go H$hVo h¡?
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	 Section - B	 4 × 8 = 32
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 8 marks.

(IÊS> - ~)
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 8 A§H$m| H$m h¡&

2)	 Analysis the socio-cultural repercussions of globalization.

	 d¡ídrH$aU Ho$ gm‘m{OH$ gm§ñH¥${VH$ Xþîà^mdm| H$m {díbofU H$s{OE&

3)	 Explain the meaning of social change and its different forms.

	 gm‘m{OH$ n[adV©Z H$m AW© Am¡a CgHo$ {d{^ÝZ ñdê$nm| H$m {díbofU 
H$s{OE&

4)	 Explain the status of woman in modern Muslim social system 

(reference in India).

	 AmYw{ZH$ ‘wpñb‘ gm‘m{OH$ ì¶dñWm ‘| ‘{hbmAm| H$s n[apñW{V H$s 
{ddoMZm H$s{OE (^maVr¶ g§X^© ‘|)& 

5)	 Explain the patterns changes in family in India.

	 ^maV ‘| n[adma Ho$ ~XbVo à{V‘mZm| H$m CëboI H$s{OE&

6)	 Define kinship and show highlight on importance of kinship in 

Indian society.

	 ZmVoXmar H$s n[a^mfm Xr{OE VWm ^maVr¶ g‘mO ‘| BgHo$ ‘hÎd na 
àH$me S>m{bE&



313

MASO-03 / 700 / 5 	 (4)	 (Contd.)

7)	 Elaborate upon the impact of westernization on Indian society.

	 ^maVr¶ g‘mO na n{ü‘rH$aU Ho$ à^md H$mo g‘PmBE&

8)	 What are the main problems of Urbanization in India?

	 ^maV ‘| ZJarH$aU H$s à‘wI g‘ñ¶mE± ³¶m h¡?

9)	 Write short notes on any two:

	 {ZåZ ‘| go {H$Ýht Xmo na {Q>ßn{U¶m± {b{IE&

	 (i)	 Modernization and social change.

		  AmYw{ZH$sH$aU Ed§ gm‘m{OH$ n[adV©Z&

	 (ii)	 Economic development.

		  Am{W©H$ {dH$mg&

	 (iii)	 Caste and Social change.

		  Om{V Am¡a gm‘m{OH$ n[adV©Z&

	 Section - C	 2 × 16 = 32
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
16 marks.

(IÊS> - g)
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$aZm h¡& àË¶oH$ àíZ 16 A§H$m| H$m h¡& 
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10)	 “Casteism and Communalism cannot be eradicated only 

through legislation” in the light of this statement suggest 

measures for eradicating this evil from Indian social scene.

	 ""Om{VdmX Am¡a gåàXm¶dmX H$mo ‘mÌ H$mZyZ hr Zht g‘mßV H$a gH$Vm 
h¡&'' Bg H$WZ Ho$ g§X^© ^maVr¶ gm‘m{OH$ n[aÑí¶ go BZ ~wamB¶m| H$mo 
Xÿa H$aZo Ho$ Cnm¶ ~VmBE&

11)	 What is Sanskritization? Explain the historical and contemporary 

context of sanskritization.

	 g§ñH¥${VH$aU ³¶m h¡? g§ñH¥${VH$aU Ho$ Eo{Vhm{gH$ Ed§ g‘gm‘{¶H$ g§X^© 
H$mo g‘PmBE&

12)	 Is Hindu marriage a religious sacrament or social contract? 

Explain.

	 ³¶m {hÝXÿ {ddmh EH$ Ym{‘©H$ g§ñH$ma h¡ ¶m gm‘m{OH$ g‘Pm¡Vm? ñnîQ> 
H$s{OE&

13)	 Write an essay on caste system in India.

	 ^maV ‘| Om{V ì¶dñWm na EH$ {Z~§Y {b{IE&


